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PART A: (Jrammar* & Vl}cdhulan

(2), (3), or (4) that best completes each

Directions: Choose the word or phr.ﬁe (1)
answer sheet,

sentence. Then mark the correct choice on your

he would not have committed those silly mistakes.
2)Whether Terry understood
4) Should Terry understand

8Z= ssuesseciiiiescenss the problem,

1) Had Terry understood
3) It Trf:rr}-' has understood

Whlle there are many hypotheses about Atlantis, the vast majority of scientists
csdesinnsaigl ...... Atlantis never existed.

1) conclude that is
3) that cﬂnclude_

2) conclude that
4) they conclude that

5 4- Among charity organizations existing currently, ..c.cccceiiiinnns takes its mission so

seriously that it sees itself as a2 military unit on duty.

" 1) that one there is 2) it is one that if
3) there is one that 4) that there is one it

55- Pnsmve thinking can be helpful, but when .........ccoee... by a realistic assessment of

a person’s situation, it can also be harmful.

1) it has not balanced 2) not balanced
4) not balaneing

'3) it d:d not bala.nce
w __
56- Jeremy put in extra hours this afternunn to ... . for his late arrival to work
this morning. _ -
. | 1)collaborate 2) alleviate
’if 3350031‘31' ate 4) compensate

e s ':\_-. :.
=0 5
S

57- 1 wuuﬁ not ha:sr'& been DI 0 .. gulil......... my academic goals without the support

and guidﬁ,néi:-, nﬁny prnfessurs. |
| i 2) assist

4) annex
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53_ Slnce Tﬂm ]]E‘IFEI‘ wﬂars Shﬂ‘ﬂs’ S g L TP PR thﬂt ]"IE \r‘.fﬂuld get a piEEE —
s - of glagg
in his foot, < :
1) tashionable | <) profitable
3) capable 4) inevitable
59- As a result of teeieesennneey 1 €M _that used to cosy eighty cents now cosll 8
dollar and fifty cents. y
1) instrugtion 2)-inhibition
~-3) inflation ) 4) Inspection
>

PART B: Reading Comprehension

Directions: Read the following passage and

select the choice (1), (2), (3), or (4) that
best answers each question, Then mark the

correct choice on your answer sheet.

Karl Friedrich Benz was a mechanieal
practical automobile to
founded Benz & Co. in

he was completely ded

would supersede the horse and revolutionize the world’s transportatione He persisted in

his efforts to build a gasoline-fueled vehicle in the face of many ﬂhsmclﬁ, including lack

of money to the point of poverty and the bitter objections of his associates, who
considered him Incompetent.

Benz ran his first car, a three-wheeler powered by a two-cycle, one-cylinder engine,
on a happy and triumphant day early in 1885, He circled a cinder track beside his small
factory, his workmen running beside the cary his/wife running too, clapping her handas;
the little machine made four circuits of the track; stalling only twice before a h:l-UkEn
chain stopped it. Even Max Rose, Benz’s skeptical partner, whose e hﬂ_d m; ¥ ::ﬂ
€ar possible, conceded that he was mildly impressed; but he remained c“"“"‘:_e fo the
end of his association with Benz that there was no future in the horseless ca-rrlage. Thﬁ'
original Benz three-wheeled vehicle, the Motorwagen, is: now _prESEWEd in° Munich.
Although it first ran early in 1885, its designwas not patented until Jan. 29, 1886.

ﬁngineer who designed and built the world’s first
be [powered by an_internal-combustion engine. In 1833 he
Mannheim to builg stationary internal-combustion EUEInes {“”
icated to the Proposition that the internal-combustion enginc

60- Whatis the passage mainly about?
1) Karl Benz’s efforts to make the first automobile
2) Karl Bénz’s personal life
3) Karl Benz’s talent in engineering
4) Karl Benz’s factory in Mannheim

61- What does the word “su persede” in par ﬂgf'ﬂpﬁ I mean?
« 11) rival | 7. 2) improve
| | 3) replace . s ) defeat

passage? ) Bl
g Ef; ;ﬂ;;ﬁgﬁg’f j)) gﬂ had no financj al diffy Culty
R Yy his wife.
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